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The assignment problem is one of the fundamental problems in the field of
combinatorial optimization. The Hungarian algorithm can be developed to
solve various assignment problems according to each criterion. The
assignment problem that is solved in this paper is a dynamic assignment to
find the maximum weight on the resource allocation problems. The dynamic
characteristic lies in the weight change that can occur after the optimal
solution is obtained. The Hungarian algorithm can be used directly, but the
initialization process must be done from the beginning every time a change
occurs. The solution becomes ineffective because it takes up a lot of time and
memory. This paper proposed a fast dynamic assignment algorithm based on
the Hungarian algorithm. The proposed algorithm is able to obtain an optimal
solution without performing the initialization process from the beginning.
Based on the test results, the proposed algorithm has an average time of 0.146
s and an average memory of 4.62 M. While the Hungarian algorithm has an

average time of 2.806 s and an average memory of 4.65 M. The fast dynamic
assignment algorithm is influenced linearly by the number of change
operations and quadratically by the number of vertices.
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1. INTRODUCTION

The assignment problem is one of the fundamental problems in the field of combinatorial optimization
[1-3]. The assignment problem is also commonly known as the classic scheduling problem, where there are n
workers assigned to complete m jobs [4, 5]. Many problems in the real world applied the assignment problem,
ranging from personnel scheduling [6-8], train scheduling [5], workforce planning [4], smart parking system
[9], robotic assignment system [1, 10, 11], cloud computing [12], weapon target assignment [13, 14] and many
others. The main objective of the assignment problem is to find an optimal and efficient pair of workers and
jobs [15]. Because each worker has different efficiencies or abilities in completing work, it is necessary to
obtain the most optimal and efficient assignment plan [4].

Vinchoo et al. (2017) conducted a comparative analysis of the five approaches used to solve the
assignment problem. Results from this comparison is Hungarian algorithm is the best approach to solve the
assignment problem [16]. There are several previous studies that modified the Hungarian algorithm to solve
assignment problems according to their respective criteria. Li et al. (2016) develop Hungarian algorithm to
solve serial-parallel system assignment problems [4].

Rabbani et al. (2019), lampang et al. (2010), dan Wang et al. (2018) modified the Hungarian algorithm
to solve the unbalanced assignment problem. Rabbani et al. (2019) proposed a modification of the Hungarian
algorithm to solve the unbalanced assignment problem without assigning some work to the dummy machine
[17]. lampang et al. (2010) also conducts research stages similar to Rabbani et al. (2019), except that the
proposed modification Hungarian algorithm still uses a dummy machine [15]. Wang et al. (2018) developed a
Hungarian algorithm to dynamically assign positions to robots and to form the desired formation [1]. Based on
several previous studies that discuss assignment problems, it can be concluded that the Hungarian algorithm
can be modified to solve various assignment problems according to each criterion.
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The assignment problem that is solved in this research is a dynamic assignment to find the maximum
weight on resource allocation problems. The dynamic characteristic lies in the change in weight or assignment
cost that can occur after the optimal solution is obtained. One possible solution is to perform calculations
repeatedly every time the weight changes by using the Hungarian algorithm. This will cause problems if the
weight changes are done too often. So that the calculation process will also be repeated and become ineffective
because it will take a lot of time. Therefore, we need an algorithm that can solve dynamic assignment problems
without doing calculations from scratch.

This paper proposed a fast dynamic assignment algorithm based on the Hungarian algorithm. The
proposed dynamic assignment algorithm represents the assignment problem in the form of a bipartite graph.
The basic idea of the proposed dynamic assignment algorithm is to maintain the feasible node-weighting value
of the previous calculations when the weight changes, both the calculation results of the Hungarian algorithm
and the results of the calculation of the proposed dynamic assignment algorithm. The proposed dynamic
assignment algorithm can solve the dynamic assignment problems in this study optimally both in terms of time
and memory used because there is no need to perform calculations from the beginning.

2. METHOD
The following are some of the theories and methodologies used in this research:
2.1. Assignment Problem
In general, the assignment problem can be stated in the following points [18, 19]:
(1) There are n workers and n jobs,
(2) Each worker will do one job and each job will be done by one worker,
(3) There is a weight for each worker in doing each job,
(4) The goal is how to get n optimal work arrangements.

The assignment problem can be represented as a linear programming model. Suppose for assigning
worker i to job j need a weight w;;, and defined

_ (1, ifworker i is assigned to job j
Xij = {0, otherwise (1)

The modeling of the assignment problem will be as follows

n n

Maximize z = Z z Wij Xij (2)
i=1 j=1
subject to
n
inj=1,i=1,2,...,n (3)
j=1
n
inj=1,j=1,2,...,n (4)
i=1
x;j=10r0 (5)

The optimal value in this case can be the maximum value or the minimum value depending on the needs.
However, in this study the maximum value is taken. This problem can also be modeled into a bipartite graph
G = (SUT,E) [7]. The set of vertices S can be assumed as workers and T as jobs. Each edge (i, j) on graph
G states that worker i from set S can do job j from set T with weight W;; which represents the weight of worker
i in doing work j. An example of a bipartite graph that represents an assignment problem can be seen in Figure
1. From Figure 1 it can be seen if the structure of the assignment problem graph is the same as the complete
bipartite graph structure shown in Figure 2b.
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Figure 1. Example of a graph representation of an assignment problem

2.2. Bipartite Graph

A graph is called a bipartite if the set of vertices can be divided into two subsets S and T so that each edge
has one endpoint at S and one endpoint at T. So that in each set there are no neighboring vertices [20].
Meanwhile, a complete bipartite graph is a bipartite graph where each vertex in one set is adjacent to all vertices
in the other set [21]. An example of a bipartite graph can be seen in Figure 2.

@
Figure 2. Example of a bipartite graph: (a) standard bipartite graph and (b) complete bipartite graph

2.3. Matching

If there is a graph G = (V,E) which has a set of vertices V and a set of edges E. The graph is an
undirected graph and each edge e € E has a weight w,. A matching on graph G = (V,E) is a set of edges
M < E where no edges touch each other in M. Meanwhile, perfect matching on graph G = (V,E) is a
matching M where each vertex in V' is incident to exactly one edge on M. The augmenting path is an alternating
path in matching M that starts and ends from an unmatched vertex. Maximum-size matching on graph G is
matching M which has the biggest |M|. Maximum-weight matching on graph G is matching M which has the

largest total weight [22]. There are three pictures in Figure 3 where the red lines indicate that the edges are
included in the matching.

Figure 3. Difference between maximum-size matching and maximum-weight matching: (a) weighted bipartite graph (b)
max-size matching (c) max-weight matching

2.4. Bipartite Matching
Bipartite matching is a matching that is contained in a bipartite graph. Complete matching of graph
G = (S UT,E) is a matching which has cardinality of min{|S|, |T|}. A regular bipartite graph is a graph G =
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(SUT,E) where each vertex on the graph has the same degree. k-regular bipartite graph means that each
vertex on the graph has k degrees [21].

2.5. Dynamic Assignment Algorithm

When optimal matching of a bipartite graph has been obtained, the problem does not stop at that moment.
A new problem arises when there is a change in some assignment weights on a bipartite graph from modeling
the assignment problem. In a possible system where changes often occur especially in a relatively short period
of time, the calculation process must be carried out as quickly as possible. This problem is known as the
dynamic assignment problem.

On the online assessment site SPOJ (Sphere Online Judge) there is a question that underlies this research.
The problem's name is Dynamic Assignment Problem which has the question number 12749 and problem code
DAP on the SPOJ [23]. On the problem given an integer n which is the size of matrix n X n. After that, the
weights of the n X n matrix are given. Then given an integer m which is the number of operations. After that
it is given m operations which must be implemented as follows:
2.5.1. Update row (X ixgy x4 X3 ... Xy_1)

The first operation is that all the weights in the i-th row of the matrix are replaced with the input given,

which is replaced by x, to xy_;. This operation represents the type of update row.

2.5.2. Update column (Yiy,y1 Y2 - Yn-1)
The second operation is that all weights in the i-th column of the matrix are replaced with the input
given, which is replaced by y, to yy_;. This operation represents the type of update column.

2.5.3. Update cell (Cijw)
The third operation is that the weight value in the matrix i-th row, j-th column is changed to w. It can
be said that this operation represents the type of update cell.

2.5.4. Add vertex (4)

The fourth operation is that the size of the weight matrix is increased by 1 become N + 1. The weights
ofa (N + 1)-throwanda (N + 1)-th column of the matrix are all set to 0. It can be said that this operation
represents changing the type of add vertex.

2.5.5. Query operation (Q)
The program is asked to give the optimal matching weights from the current graph. It can be said that
this operation represents the type of query operation.

2.6. Hungarian Algorithm

Hungarian algorithm is an algorithm that has been known to solve the problems of the assignment
properly and efficiently [24, 25]. It is necessary to modify the Hungarian algorithm to solve the dynamic
assignment problem. The dynamic assignment problem that solved in this research is to find the maximum-
weight matching on the complete bipartite graph G = (S U T, E) where |S| = |T]|.

For example, there is a complete bipartite graph G = (SUT,E) where S ={1,2,...,n} and T =
{1',2',...,n} and the weight function W = (w;;). w;; is the weight of the edge (i,;") and it is assumed that
w;; is always non-negative, then the Hungarian algorithm can find optimal matching on G with complexity
0(n®). Inthiscase n = |S| = |T|. Two vectors < u, v > where u = (Uy, Uy,... Uy) aNd v = (v, V,,...v,) are
feasible node-weighting if they satisfy Eq. (6) [22]:

ui+vj2Wijf0ra||i,j=1...n (6)
For example, optimal matching on G has a total weight of D, it can be seen that:
wM) <D <Yh u + v @)

In Eq. (7), w(M) is the sum of the weights of any perfect matching M in G. If a perfect matching M can
be found where equality occurs in Eq. (7), then M is optimal matching and the condition must be found.

2.7. Fast Dynamic Assignment Algorithm

The fast dynamic assignment algorithm is an algorithm proposed in this research to solve dynamic
resource allocation problems. This algorithm represents the assignment problem into a bipartite graph. The
algorithm can find the optimal matching value on a bipartite graph that changes in weight without doing any
calculations from the beginning. The basic idea of the proposed dynamic assignment algorithm is to maintain
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the feasible node-weighting value of the previous calculations when the weight changes, both the calculation
results of the Hungarian algorithm and the results of the calculation of the proposed dynamic assignment
algorithm. An explanation of the value of feasible node-weighting has been discussed in the Eq. (6).

It is necessary to adjust the feasible node-weighting value to the weight change on a bipartite graph so
that the Hungarian algorithm can then be run without having to find the feasible node-weighting from the
beginning. It can be said that the proposed algorithm is the development of the Hungarian algorithm. This is
because the way the proposed dynamic assignment algorithm works is to change some of the results of the
Hungarian algorithm that have been run according to the weight changes that occur. This study will focus on
discussing the assignment problem for dynamic resource allocation in obtaining the maximum-weight
matching.

There are four kinds of weight changes. Complete bipartite graph G = (S U T, E) is defined first. In this
case n = |S| = |T| where S = {1,2,...,n}and T = {1',2',...,n'} and the weight function W = (w;;) where
w;; is the weight of the edge (i,j) where i € S and j' € T and it is assumed that w;; is always non-negative.
There is also a feasible node-weighting < u, v >, then a Hungarian algorithm is run which results in optimal
matching M and a new < u, v > value is obtained. The four changes in this research are:

2.7.1. Changes on the weight of edge (i,j') forall j' € T

In this case, there is a vertex i € S where all edges that intersect with it changed the value of its weight.
From < u, v > the results of the previous Hungarian algorithm, the first adjustment that must be made is to
remove edge (i,j) from optimal matching M because there must be a possibility that the optimal matching
arrangement will change. The next adjustment is to change the u; value. The u; value is converted into the
following Eq. (8):

u; = max(u;, (w; —vp)) forallj=1,...,n (8)

This is done to maintain the feasible node-weighting value as described in Eq. (6) by finding the u; value
so that u; + v; = w;; forall j. This is because u; > w;; — v; for all j is in accordance with that obtained from

Eq. (8).

2.7.2. Changes on the weight of edge (i,j’) foralli € §

In this case, there is a vertex j' € T where all the edges that intersect with it are changed by weight.
From the < u, v > results of the previous Hungarian algorithm, the first adjustment that must be made is if
vertex j' is not pair of i for optimal matching M, then there is a possibility that the optimal matching will
change. Therefore, it is necessary to remove edge (i, ") from optimal matching M. The next adjustment is to
change the v; value. The value of v; is converted into the following Eq. (9):

v; = max(vj, (w;; —uy)) foralli=1,...,n 9

This is done to maintain the feasible node-weighting value as described in Eq. (6) by finding the v;
value so that u; + v; = wy; for all i. This is because v; > w;; — u; for all i is in accordance with that obtained
from Eq. (9).

2.7.3. Changes in the weight value of an edge (i, j")

In this case, there is an edge (i,j’) i € Sand j’ € T whose weight is changed from w;; to w';;. The first
adjustment that must be done is to remove the edge (i, ;") from the optimal matching M because there must be
a possibility that the optimal matching arrangement will change. After that, one of the u; or v; values need to
be adjusted so that the feasible condition of the node-weighting is maintained. Adjust one the value of u; or v;.
If only the value of u; is adjusted, the value of u; will be like in Eq. (8). Or if only the value of v; is adjusted,
the value of v; will be like in Eq. (9).

2.7.4. The addition of two vertices, one vertex in § and one vertex in T

In this case, two vertices are added to the graph G. One vertex is added to S and one vertex in T. For
example, the vertex added to S is vertex p and vertex g on T, then we also add some edges connecting p to all
vertices in T and some edges connecting g to all vertices on S and one edge connecting p to g. In this case, the
weights of all the newly added edges are assigned a value of 0. In addition, u, or v, are added to < u,v >
with the value u,, equal to the following Eq. (10):

u, = max(u,, (wy; —v;)) forall j =1...n (10)

and v, is equal to the following Eq. (11):

122



JOIN (Jurnal Online Informatika) e-ISSN 2528-1682
p-ISSN 2527-9165

vy = max(vy, (Wig —u;)) foralli =1...n (11)

The assignment of u,, or v, values as written in Eq. (10) and Eq. (11) is to adjust the feasible node-
weighting value. After the adjustment process is carried out according to the type of change that has occurred,
it is necessary to run a Hungarian algorithm to obtain a new optimal matching. It should be noted that in this
case the Hungarian algorithm is no longer running from scratch. The process of finding optimal matching with
only one pair of vertices that have not entered into optimal matching must be much faster than the process of
finding optimal matching from the initial state. Moreover, the feasible node-weighting has been adjusted so
that the value is maintained in accordance with the matching M currently formed.

3. RESULTS AND DISCUSSION

The following are the results of the implementation and experiments that have been carried out in this
study:
3.1. Implementation of the Proposed Algorithm

There are four types of weight changes have been discussed. Each change has its own adjustments. The
following is a discussion of the algorithms for each change:

3.1.1. Update row

Changes of the weight on edge (i, ) for all j* € T shortened to update row. Figure 4 is an algorithm
of the UpdateRow function. The UpdateRow function will run when the program receives input according to
the format described in section 2.5.1. The mathematical explanation and flow of the UpdateRow function
algorithm follow the steps described in section 2.7.1. Line 1 of the program stores the input of the row index
to be changed. Then line 2 until line 4 is the process of changing the weight. Line 5 until line 6 is the elimination
of matching edges that intersect with the r-th vertex in S. Line 8 until line 10 is the process of feasible node-
weighting adjustment of the u value according to Eq. (8).

Input : row : the index of the row to be changed
nweight[] : new weight

Output : -

1. rerow

2. forj=0tondo

3. wlr][j] < nweight[j]

4. od

5.  mateT[ mateS[r] ] « -1

6. mateS[r] « -1

7. u[r]<0

8. forj=0tondo

9. ufr] « max(u[r], wlr][j] - VIj])

10. od

Figure 4. Algorithm of UpdateRow function

3.1.2. Update column

Input : col : the index of the column to be changed
nweight[] : new weight
Output : -
¢ « col
fori=1tondo
wli][c] «— nweight[i]
od
if mateT[c] !=-1
mateS[ mateT[c] ] « -1
mateT[c] « -1
v[c] <0
. fori=1tondo
0. v[c] « max(v[c], w[i][c] — u[i])
1. od
Figure 5. Algorithm of UpdateColumn function
Changes in the value of the weight on edge (i, j’) for all i € S shortened to update column. Figure 5 is
an algorithm of the UpdateColumn function. The UpdateColumn function will run when the program receives
input according to the format described in section 2.5.2. The mathematical explanation and flow of the
UpdateColumn function algorithm follow the steps described in section 2.7.2. Line 1 of the program stores the

RBpwo~N~wNE

———————— ]
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input of the column index to be changed. Then line 2 until line 4 is the process of changing the weight. Line 5
until line 7 is the elimination of matching edges that intersect with the c-th vertex in T. Line 9 until line 11 is
the process of feasible node-weighting adjustment of the v value according to Eq. (9).

3.1.3. Update cell

Changes in the weight value of an edge (i, ;") are shortened to update cell. Figure 6 is an algorithm of
the UpdateCell function. The UpdateCell function will run when the program receives input according to the
format described in section 2.5.3. The mathematical explanation and flow of the UpdateCell function algorithm
follow the steps described in section 2.7.3. Line 1 of the program stores the input of the row index to be
changed. Line 2 of the program stores the input of the column index to be changed. Line 3 is the process of
changing the weight. Line 4 until line 5 is the process of deleting edges when changes occur in the edges that
are in optimal matching. Line 7 until line 9 is a process for adjusting the feasible node-weighting u so that the
< u, v > values are maintained. Since the adjusted one is the feasible node-weighting u, the adjustment will
follow Eq. (8).

Input:row :the index of the row to be changed
col : the index of the column to be changed
nweight : new weight of w[r][c]

Output : -

1. rerow

2. c«col

3. w[r][c] « nweight

4. mateT[ mateS[r] | « -1

5. mateS[r] « -1

6. ufr]<o0

7. fori=1ltondo

8. ufr] < max(u[r], w[rl[il - v[il)

9. od

Figure 6. Algorithm of UpdateCell function

3.1.4. Add vertex

The addition of two vertices each on S and T is shortened to add vertex. Figure 7 is an algorithm of the
AddVertex function. The AddVertex function will run when the program receives input according to the format
described in section 2.5.4. The mathematical explanation and flow of the AddVertex function algorithm follow
the steps described in section 2.7.4. Line 1 of the program adds the number of vertices. Line 3 until line5isa
feasible node-weighting adjustment process. As explained in Section 2.7.4, when the vertex is added, the value
u[n] or the value v[n] must be adjusted. Since the adjusted one is the feasible node-weighting v, the adjustment
will follow Eqg. (9).

Input : -
Output : -
1. nen+l
2. v[n]<0
3. fori=1tondo
4. v[n] « max(v[n], w[i][n] — u[i])
5 od
Figure 7. Algorithm of AddVertex function

The four types of changes to the dynamic assignment problems that were resolved in this study have
been described above. Now we will discuss the fast dynamic assignment algorithm. Figure 8 contains the
general stages of the fast dynamic assignment algorithm. Line 2 until line 10 represents the four change
scenarios that are resolved by the proposed fast dynamic assignment algorithm. Each change scenario has
different stages of completion as described in Figure 4 until Figure 7. What needs to be considered from the
running of this algorithm is the process that occurs in row 12. The Hungarian algorithm is run again without
having to initialize the feasible node-weighting value and the matching arrangement because both were
obtained from the previous Hungarian algorithm. Of course, the Hungarian algorithm running in row 12 runs
k phases where k is the number of edges that have been removed from optimal matching due to previous
changes.
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Input:n : the number of vertices
w[n][n] : weight of bipartite graph
Output : total weight of optimal matching when prompted
1. HUNGARIAN
2. while there are changes do
3 if kind of change = update row
4 UpdateRow
5 else if kind of change = update column
6. UpdateColumn
7
8
9
1
1

else if kind of change = update cell
UpdateCell
. else if kind of change = add vertex
0. AddVertex
1 else asked the total weight of the current optimal
matching
12. Run HUNGARIAN function without doing the
first line process
13. Return the optimal matching weight for the above
process
14. fi
15. od
Figure 8. Fast dynamic assignment algorithm

3.2. Experimental Results

There are several test scenarios carried out. The first scenario is to send the source code of the fast dynamic
assignment algorithm to the SPOJ online assessment site on a question entitled Dynamic Assignment Problem
[23]. Results of sending the source code to SPOJ produce an output "Accepted"” which means the source code
successfully completed all test cases provided. The time it takes for the source code to solve this problem is
0.14 s, and requires 4.5 M of memory. The source code that was created managed to get the first rank out of a
total only 8 people who managed to solve this problem. The ranking can be seen in this link
https://www.spoj.com/ranks/DAP/.

The second scenario is to measure the time and memory ratio between the use of the Hungarian algorithm
and the fast dynamic assignment algorithm. To get the time and memory comparison, the source code of the
Hungarian algorithm and the fast dynamic assignment algorithm were sent 10 times each on the SPOJ online
assessment site on the question entitled Dynamic Assignment Problem. Then the average time and memory are
calculated from the results of each algorithm. The comparison can be seen in graph Figure 9(a). While the
comparison of the required memory can be seen in graph Figure 9(b).

Comparison of Processing Time Comparison of Memory Requirements
35 B R 8 o033 ol 5555 T35 OSSN
2 N N N N N NN N 4.7
o
g 25 S465 SIS S <
2 2 > 46
o
= 15 2455 2 gl I 0
2 1 <] < <l <i of <f ©f off <} « S 45
= Al Al < S <l < < 9l <l —
805 of off off off off ol of off olf o 4.45 | | ﬁ |
8 0 " " " " [] " [] [ " " 4.4
“ 1 2 3 4 5 6 7 8 9 10 1 2 3 4 5 6 7 8 9 10
Experiment Experiment
m Fast Dynamic Assignment Algorithm m Fast Dynamic Assignment Algorithm
B Hungarian Algorithm @ Hungarian Algorithm
(a) (b)

Figure 9. Comparison between the fast dynamic assignment algorithm and Hungarian algorithm : (a)
Comparison of Processing Time (b) Comparison of Memory Requirements

From the graph in Figure 9(a), it can be seen that the average time needed for the fast dynamic assignment
algorithm is 0.146 s, while the Hungarian algorithm is 2.806 s. The fast dynamic assignment algorithm has a
much better processing time than the Hungarian algorithm. This is because the Hungarian algorithm has to
repeat the initialization process from the beginning, while the fast dynamic assignment algorithm uses the
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results from previous calculations by maintaining the feasible node-weighting value. From Figure 9(b) it can
be seen that the average memory required by the fast dynamic assignment algorithm is slightly better than the
Hungarian algorithm. The average memory required for the fast dynamic assignment algorithm is 4.62 M, and
the Hungarian algorithm is 4.65 M.

The third trial scenario is to use test case data from the output of the test case generator program. The test
case generator program generates data randomly according to the given parameters and the data will be stored
in a file. These parameters are the number of vertices, the number of operations, the interval for which the
query occurs, and the interval for adding vertices. The program can also calculate the time required to complete
each test case. Check and analyze whether the number of vertices and the number of operations affect the
performance of the fast dynamic assignment algorithm.

Effect of Number of Vertices Effect of Number of Operations
800
700 y=82.017x + 17.472

754
676,

- 599 | .’
600 R2—09991 506.. °®
500 4209
400 348..4°

254,.
30 193 . o®
20 98 . ot I
10 .’.

900 848
800 Y =5.1028x2 + 43.289x + 43.19 710.,.|

700 R2:09998 600.' °
600 87
500 390 ., .

400 209 .

300 214 g

200 g4 49.g°

100 ll I

Processing Time (milisecond)
Processing Time (milisecond)

0
0
0
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10 20 30 40 50 60 70 80 90 100020003000400050006000700080009000
Number of Vertices Number of Operations
(@) (b)

Figure 10. The effect of the number of vertices and the number of operations on the fast dynamic assignment
algorithm performance

In this experiment, the number of vertices varied between 10 and 90 with a range of 10 vertices. The
number of operations is defined as 10000 operations, where each operation multiples of 10 is a query operation.
The 999 multiples operation is an add vertex operation. Then the program execution time is recorded for each
data in milliseconds so that the effect of many vertices on program execution time can be observed. The trial
results of these experiments can be seen in the graph in Figure 10(a). The graph in Figure 10(a) tends to
approach the quadratic curve. This is consistent with the complexity of the fast dynamic assignment algorithm
which is influenced by the number of vertices quadratically.

At the experiment of the effect of number of operations, the number of operations made varies between
1000 to 10000 with a range of 1000 operations. The number of vertices is determined to be 90 vertices. Also
specified that each operation of 10 is a query operation. Every 999 multiple operations is an add vertex
operation. Then the program execution time is recorded for each data in milliseconds so that the effect of many
operations on program execution time can be observed. The trial results of these experiments can be seen in
the graph in Figure 10(b). The graph in Figure 10(b) tends to approach a linear curve. This is consistent with
the complexity of the fast dynamic assignment algorithm which is influenced by the number of operations
linearly.

4. CONCLUSION

From the results of experiments that have been carried out, several things can be drawn from the
performance of the fast dynamic assignment algorithm. The fast dynamic assignment algorithm has a much
better time average than the Hungarian algorithm in solving dynamic assignment problems on resource
allocation. From the test results, the proposed algorithm has an average time of 0.146 s, while the Hungarian
algorithm is 2.806 s. While the average memory required by the fast dynamic assignment algorithm is slightly
better than the Hungarian algorithm. From the test results, the proposed algorithm has an average memory of
4.62 M, and the Hungarian algorithm is 4.65 M. The performance of the fast dynamic assignment algorithm is
influenced linearly by the number of change operations and quadratically by the number of vertices.

This research has been able to propose an algorithm that can reduce processing time and memory
requirements to solve dynamic assignment problems. However, the memory requirements have not changed
much so that further research can make an increase in terms of memory needs.
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